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308 XXM SOIA 2,796,000 3,000,000 A 204,000
10 SJ12S0llth&t 2,796,000 3,000,000 A 204,000
oZddggadat 2,796,000
S=sZEEIMY 12,000 18,000 A 6,000
308 MtXIEHMSOIH 12,000 18,000 A 6,000
10 SJ12S0lth&t 12,000 18,000 A 6,000
ousl=ad g 12,000
SAEZA S3I2AA 1,750,000 0 1,750,000
308 A EHHSOIA 1,750,000 0 1,750,000
10 SJ1&2s0lts 1,750,000 0 1,750,000
O"HAZA 33D 1,750,000
Jtsalssa el X 1,549,000 0 1,549,000
308 XX EHSOIA 1,549,000 0 1,549,000
10 B2 S0ltHs 1,549,000 0 1,549,000
O3Jt8dle= 1,549,000
g Feplsdy = 400,000 300,000 100,000
HHE 2edlsdy 400,000 300,000 100,000
308 XXM SOl A 400,000 300,000 100,000
10 SJ12S0llth&t 400,000 300,000 100,000
oa-d ®eldls 400,000
ICT S MHIA =4t 4,708,000 2,590,000 2,118,000
s 260,000
< 4,448,000
AZEFYN MY w4 4,708,000 2,590,000 2,118,000
s 260,000
= 4,448,000
AWy 8&X& 520,000 390,000 130,000
s 260,000
= 260,000
308 XtXIEHHSOIA 520,000 390,000 130,000
s 260,000
=) 260,000
103720t 3aH 520,000 390,000 130,000
OXdswd & X & 520,000
s 260,000
= 260,000
ANSESHMH 2 80,000 80,000 0




AR FRSY=2 SN AEAYD
HE: |CT SEAMUIA =
Sel: ADESIO MY 4 (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 80,000 80,000 0
1037/ 2S0HUHeB&EEALS I 80,000 80,000 0
OXNGSWSEA2HH 2H22(UHS) 80,000
ZEDICIHII=X3dH 2222l 40,000 40,000 0
308 XXM SO0l A 40,000 40,000 0
10 B2 S0 BAHAE AR 40,000 40,000 0
OZEINCAHII=XNJHH 2922 40,000
ANASWNEEHE 423 XA 156,000 0 156,000
308 XtXIEHHSOIA 156,000 0 156,000
10 SII 2 SOICHEHE & & 2 & A I 156,000 0 156,000
OXYGSWEEME &3 NIAAML(HHS) 156,000
ICT ClEtOolA S 2 ALY 200,000 210,000 A 10,000
308 XX EHH SOl A 200,000 210,000 210,000
1037/ 2S0HUHeSE A ALS I 200,000 210,000 A 10,000
OICT CidtolA Y 5 2L (LS) 200,000
ICT 884 JIsHY X2 ALY 200,000 200,000 0
308 XAtXIEHH SOl 200,000 200,000 0
0 3JI2SOlCHsHE & X2 E A HI 200,000 200,000 0
OICTEE&Y JIsg NAMZ 200,000
JIdEEE &M - 25 AMEEIS J|gt2x 197,000 120,000 77,000
403 UtXISHH S A0l & 197,000 120,000 77,000
02 S 2SO HEAEE 2 E AL H 197,000 120,000 77,000
OJIHEEE AN - 23 AIgdIes Jlgt
=(U8) 197,000
40 ST MEe XNJALAEH 2F 600,000 1,200,000 A 600,000
403 XSS =0l & 600,000 1,200,000 A 600,000
02 S 2SO HEAE X 2 E AL H 600,000 1,200,000 A 600,000
ONESE AN &3 XJAMEH 2F(US) 600,000
ICTESE &= =229 HYHH 2= 100,000 100,000 0
308 XXM SOIA 100,000 100,000 0
10 I 2 SOICHetE & X 2 E AL I 100,000 100,000 0
OICTE=8 55 2248 A4l *FH(US) 100,000
BISHESERE A&8)=s NIMdH 25 2,200,000 0 2,200,000
403 A X EHHS =0l A 2,200,000 0 2,200,000
02 SO 2SOICHEH A2 X 2 &AM I 2,200,000 0 2,200,000
BEHMESERE A¥Ilzs KNIHdH 2SFAY(
us) 2,200,000
ESUSXNS(ANNY HESHSY 25 X2 175,000 0 175,000
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A= FHSY= SN ALY
Ha: (T BEALIA =4
oel: ATEYO MY FH CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 175,000 0 175,000
1037/ 2S0HUHeB&EEALS I 175,000 0 175,000
OsSd3Xs(ANHNY HESES 5 K& 175,000
BtEX 820 Z2E JH = 20,000 0 20,000
308 XXM SO0l A 20,000 0 20,000
10 B2 S0 BAHAE AR 20,000 0 20,000
OBtEX M2t =& =l 20,000
EEMAAS XNGNHE Dl = 220,000 0 220,000
308 XtXIEHHSOIA 220,000 0 220,000
10 SII 2 SOICHEHE & & 2 & A I 220,000 0 220,000
OSEMaME NAHNE Dl 7= 220,000
HE 2L (Mo ) 63,871 68,894 25,023
Jl23&dl 63,871 68,894 25,023
Jl2ZHl 63,871 68,894 A5,023
201 Let24E] 20,401 19,514 887
01 At 22l 20,401 19,514 887
OJle+=&Hl 8,326
OJl=2= &l 12,075
202 044l 43,470 41,580 1,890
01 = LH o4 1l 43,470 41,580 1,890
OJl=0tl 43,470
HRas(Matagdn) 2,855,315 879,360 1,975,955
HEHHK = 2,855,315 879,360 1,975,955
HEHH X = 2,855,315 879,360 1,975,955
702 JIS8ES 2,000,000 0 2,000,000
(RPIE=RSE—= 2,000,000 0 2,000,000
Os= &4 -8HAH - - FHEHE Xd JISsdE=S 2,000,000
705 =3 Acl34&E 855,315 879,360 A 24,045
03 Al - EXYHEI IS0 +==d=oE 687,000 687,000 0
OIEINEE RSO sAgeZetas |
=2 567,000
OAMAEICHEAXIRA ZCteE A3 120,000
04 Al - SN SINLI S0 =30 A&kt 168,315 192,360 A 24,045
O&IIEINEESESAY 4sAgezetas 0
At 138,915
OAMAEICEAHXN A ZeLEE O At 29,400
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= o
A & 0l & AF 2 E A A
20198 = =20& e MSYd= ~ HSHE=
A= FHsSd= AR & DA
M UXXES =88 22
©F: UT 9EE B3 (29l 8)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Ofl LA X1 2 28,134,052 17,532,828 10,601,224
= 2,354,800
J| 13,786,693
= 11,992,559
HUHXRRS S8R 2l 4,910,149 4,846,759 63,390
= 2,354,800
J| 1,074,700
< 1,480,649
WX tE= B2 4,870,149 4,806,759 63,390
= 2,329,800
J| 1,074,700
< 1,465,649
SAIAZA SSHIE ME EF 30,000 30,000 0
207 RO 30,000 30,000 0
01 A7 39 30,000 30,000 0
OZAIIASIAL BSHIE MHEEH 30,000
JFAEOIN =2 EAXIXE MY 230,000 64,000 166,000
403 UHXSHHSA=0l& 230,000 64,000 166,000
01 X EHHMA=LE L 230,000 64,000 166,000
OJAEOIH =2 SXXE AFG(US) 230,000
NEIE JbAAE OHE X E A 1,180,900 636, 240 544,660
= 1,180,900
403 XSS =0l & 1,180,900 636,240 544,660
= 1,180,900
01 XM A=2E X 1,180,900 636,240 544,660
ONBIZE JIAANE WX A 1,180,900
= 1,180,900
LPG A8 MEEI 22 AY 186,000 186,000 0
= 150,000
< 36,000
403 MtXISHE X201 & 186,000 186,000 0
= 150,000
< 36,000
01 X SHHAN2E= 186,000 186,000 0
OLPG A HEHT B At 186,000
= 150,000
S 36,000
LPG 28 MEHI B3 AL (XHA) 891,000 0 891,000
403 A X EHHS 20l A 891,000 0 891,000
01 X ESHHMA=LE L 891,000 0 891,000
OLPG A8 MEHT ZBSAS (XA 891,000
FHAHAS WHXSX ALY 1,284,249 1,338,719 A54,470
J| 1,074,700
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A= FHsSd= AR & DA
M UXXES =88 22
©F: UT 9EE B3 (29l 8)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
== 209,549
403 MtXISHHSA=0l& 1,284,249 1,338,719 A54,470
J| 1,074,700
< 209,549
01 XM A=2E X 1,284,249 1,338,719 A54,470
OFHAAE MHXSX At 1,284,249
J| 1,074,700
< 209,549
ANAMHRAE AlZ X 958,000 550,000 408,000
= 958,000
403 UtXISHE X201 & 958,000 550,000 408,000
= 958,000
01 X SHHA2E = 958,000 550,000 408,000
OX S0l UK & A 958,000
= 958,000
Hext ANSouUHNAE =8 S99 100,000 0 100,000
= 40,000
< 60,000
207 & 51 OH & Hl 100,000 0 100,000
= 40,000
< 60,000
01 2284 100,000 0 100,000
OHMBX XAHUHXHE =8 &4 100,000
= 40,000
< 60,000
NS XAHE =X 2,000 1,800 200
= 900
< 1,100
201 Let24E] 2,000 1,800 200
= 900
< 1,100
01 At 22l 2,000 1,800 200
OXguUHXAE =8XE d2uF 2,000
=2 900
< 1,100
HUXagsdaRFA 8,000 0 8,000
201 Let24d| 8,000 0 8,000
01 At 22l 8,000 0 8,000
Ot & ==ZHl 8,000
AXA OFM 22 40,000 40,000 0
= 25,000
< 15,000
S0 AN E USRrEEd 40,000 40,000 0
= 25,000
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A= HANSA=2 2A X
HEM: UK 38 22
ol AT QHE B (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
= 15,000
308 XX G SO0l & 40,000 40,000 0
= 25,000
= 15,000
01 AIKSHHENMNEXZ 40,000 40,000 0
Osd)| MDUE Ss&ad 40,000
= 25,000
& 15,000
B & ATHA U Xaey 4 23,179,471 12,686,069 10,493,402
J| 12,711,993
& 10,467,478
EfQr2t & AMTHAM oUXAYE 4 XIS 23,179,471 12,686,069 10,493,402
J| 12,711,993
o= 10,467,478
sct¥el &4 211,000 201,000 10,000
201 LBt Y| 20,000 10,000 10,000
01 AP 22| d| 10,000 10,000 0
Osctde =24 29 10,000
03 Al E H| 10,000 0 10,000
OEAZ HUXNEY 228 /35S 10,000
202 04| 3,000 3,000 0
01 2Ll 3,000 3,000 0
Osctde 428 2o 3,000
308 MXISHMSOIA 188,000 188,000 0
10 B 2SHUSHE AN E A 188,000 188,000 0
OB ol otAHge X 90,000
OBz 22U otAHg X 60,000
O2=24 AQIE sctde 58 X4 38,000
ESCtHAEY 550,000 500,000 50,000
308 AMXISHMSOIA 550,000 500,000 50,000
10 21 2SUHUSHEAEAE AT Y| 550,000 500,000 50,000
02019 Sc2tHAEE W= 550,000
ZEANEXXNAM IR EAS 218,000 295,000 AT7,000
403 XX SHHS K201 & 218,000 295,000 AT7,000
02 BI2SHUSXAE2ERAEAIS Y 218,000 295,000 AT7,000
OEZANE AL JNEEREANG(HE) 218,000
B JDisdyH 29X 200,000 400,000 A 200,000
308 XHXIGH SO0l & 200,000 400,000 A 200,000
10 2| 2SHUSHEAXERAEASH] 200,000 400,000 A 200,000
OB &) sHEH 89 N 200,000
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A= FHsSd= AR & DA
M poE U AT HUTAY SA
Sel BN YR L AT HHXANY S8 X8 CEEEED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
HzodXgd 240l =& (RD) 100,000 200,000 A 100,000
308 AHAIEHHSOIA 100,000 200,000 100,000
1037/ 2S0HUHeSBHEAEALS I 100,000 200,000 A 100,000
OMZuUHXLY 24AJl&s WIIX 8883
A5 (R&D)(LHS) 100,000
2T St X H3E5 Y T2ME AtY X 50,000 0 50,000
307 21201 A 50,000 0 50,000
02 It S AMHEL 50,000 0 50,000
OZE £ct #aX 43y Z2NE & 50,000
SSHSFL A= 0IXNEH 218,714 322,790 A 104,076
307 gl2tol & 211,714 315,790 A 104,076
08 OIXtEHE 3 211,714 315,790 A 104,076
OHYZLEIZ OINHEA 211,714
308 XXM SOIA 7,000 7,000 0
10 B2 SUUe3&HAE A 7,000 7,000 0
OEHLZLHEIZ 0IXMEN U=+ 7,000
o2l XEAY 240,000 288,000 A 48,000
403 XIS E X201 & 240,000 288,000 A 48,000
01 X SHHX2E= 240,000 288,000 A 48,000
Otts¢e XA (e gelXx) XN (Wa) 240,000
et =e82g Mg 600,000 300,000 300,000
403 A X EHHSH20lA 600,000 300,000 300,000
01 X ESHHMA=LE L 600,000 300,000 300,000
OHYLY 83 AMG(US) 600,000
HECIEHOIAIE B2 EXAY 297,000 297,000 0
403 XSS =0l & 297,000 297,000 0
01 X SHMA=2EE 297,000 297,000 0
OHlGelgAld B2 XM (THE) 297,000
ATHAM X S X3 A 1,738,298 1,416,357 321,941
403 MHXISHHE X201 & 1,738,298 1,416,357 321,941
01 XM A=2EE 1,738,298 1,416,357 321,941
OATHMNUHX ESEXAL(HS) 1,738,298
S4HsIt HEE ESAE 160,000 160,000 0
403 A X EHHS =0l A 160,000 160,000 0
01 X HHMA=LE L 160,000 160,000 0
OSasI e ESMmg(isS) 160,000
OS2 BHYZeEA A AMH 331,200 600,000 A 268,800
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M ox
40 5 4

Had ol XAt |4
R ol X &g s X3

D 3NSE= A Y NE PN}

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
403 UHXSHHSA=0l& 331,200 600,000 A 268,800
01 X SHMA2E X 331,200 600,000 A 268,800

OFCUENWE Ol 2 E2AY 331,200
St EHYZHEAIE XA 600,000 900,000 A 300,000
403 XSS A0l & 600,000 900,000 A 300,000
01 XM A=2EE 600,000 900,000 A 300,000
Ostn EHLZLMAIL XA 600,000
s HEE ESAE 78,000 0 78,000
403 XSS X201 & 78,000 0 78,000
01 XXM 22 = 78,000 0 78,000
Og=sg HEE 2= MY 78,000
SSTHY e 2ESAY 60,000 0 60,000
403 A X EHHS 20l A 60,000 0 60,000
01 X SHHMA=2LE L 60,000 0 60,000
OZSsFe HHZ ESMg(Us) 60,000
EHEZBMESHEH 2EII8tE 4L 3,625,000 1,650,000 1,975,000
J| 3,225,000
< 400,000
403 XSS A=0l& 3,625,000 1,650,000 1,975,000
J| 3,225,000
< 400,000
01 HXSHMA2E X 3,625,000 1,650,000 1,975,000
O MesdH #+= JIgtxd 3,625,000
J| 3,225,000
< 400,000
EHLZOIOICIHAIMSE MISXNRUEH F= 7,000,000 0 7,000,000
J| 4,500,000
< 2,500,000
403 MtXISH S A2 01 & 7,000,000 0 7,000,000
J| 4,500,000
< 2,500,000
02 SO 2SO HEHAHE X 2 E AL Y 7,000,000 0 7,000,000
OHLZOIOICIHAINE AtESIRJEEH 2= 7,000,000
J| 4,500,000
< 2,500,000
St d EHSZBLTAAE JHE 50,000 0 50,000
308 MtXIEHMSOIH 50,000 0 50,000
1037/ 2S0HUHeEHEAEALS I 50,000 0 50,000
OsJt=2E EHHYZUHEAAL HL(HS) 50,000
JOTo1er E2401e JI=X3 A 50,000 50,000 0
308 XX EHHSOIA 50,000 50,000 0
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A= FHSY= FA O X
M EHYE QL ATHA WX RA
SRl BT L AT HUKNY S8 X

AR .24 - FHH .G (3H) - NSAY - BES Ol At o ﬁlgﬁ HRE2
10 B2 SUHUSHEAEAE AL Y| 50,000 50,000 0
OITolet E=2A0|1Y JI=XNFEAIE(HE) 50,000
INR-DNE 2,377,071 1,532,790 844,281
J| 2,377,071
403 XX SRS K20| & 2,377,071 1,532,790 844,281
J| 2,377,071
01 XIS A2E X 2,377,071 1,532,790 844,281
OKXMTHMON A X XIS X3 AS 2,377,071
J| 2,377,071
DILIEHZEE B2 AtY 843,288 570,132 273,156
J| 467,922
o 375,366
403 XX SHHMS K201 A 843,288 570,132 273,156
J| 467,922
o 375,366
01 XS AS2E X 843,288 570,132 273,156
OO0/l E2AMY 843,288
J| 467,922
& 375,366
XN XA 2835 KR 1,064,900 463,000 601,900
802 Bt&t=J| Ef 1,064,900 0 1,064,900
03 =S 1,064,900 0 1,064,900
OXNY HUHXAAS 2535 XNAY QIR
= bBt&t 1,064,900
st A2S2XE BHEENME L SEAAE Y 300,000 0 300,000
308 XAHXIEHSOIA 300,000 0 300,000
10 B 2SUHUSHEAEAE A Y| 300,000 0 300,000
Ostn A=22HEY BHYZENE L SSAIAH
HeH(e) 300,000
SI2MAMI=d2E ESXNGEE2E &8 AEAYE 75,000 0 75,000
308 XX SHHSOIH 75,000 0 75,000
10 2| 2S00 sHE A X AE A 75,000 0 75,000
OBZMAI 27 ESNNA=R S AH
A (He) 75,000
HE s ALY 28 As HY 2,142,000 0 2,142,000
J| 2,142,000
403 XX SHHS K20 & 2,142,000 0 2,142,000
J| 2,142,000
01 AXHHE2E =X 2,142,000 0 2,142,000
OH=lLI=s By DAL HEASE 2,142,000
J| 2,142,000
SHM A AH (0l X)) 44 432 0 44 432




A= HANSA=2 2A X
HaM: H™=2HAH| (0l XI2)
Ee: I3 (2 &HH)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
=34l 44 432 0 44 432
=344l 44,432 44 432
201 et d| 14,192 14,192
01 AP 2t 2| bl 14,192 14,192
OJlgsx=gl 5,792
[OPIE==2=1l 8,400
202 044 30,240 30,240
01 2L Y| 30,240 30,240
OJI2 0yl 30,240
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n0

Kio

Hl w

725,475

115,500
115,500

5,000

25,000

95,600

6,200
8,000

A 1,800

H3r
Wikd
RIS

6,743,256

33,200

497,700
497,700

17,000

17,000

16,200
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38,400

22,400

17,400
16,000
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50,000
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51,800
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11,000

g Al A
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7,468,731
2,770,000
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1

H
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16,200
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A= FHsSd= EM 2SN
Y 2HSH AT B
Sl RXSY RS CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
O=sAzell 2,700
Os&282= 5,000
OH2EEE 1,500
301 et a = 32,200 40,800 A 8,600
07 2el=& 0ol bl 32,200 40,800 A 8,600
OHM Bl 28,900
OoMaEdl= 1,200
OltAXA =223 =4l 2,100
406 JIEtA =201 & 98,000 0 98,000
01 JIEtR+E2 01 & 98,000 0 98,000
Ouz XY 32 =4 Xz 98,000
SHZAHUAMN 29I 8,500 8,500 0
201 ¢er24l 5,000 5,000 0
01 At 224l 5,000 5,000 0
OBt & ==ZH| 5,000
202 044l 3,500 3,500 0
01 = LH &4 1l 3,500 3,500 0
O=otl 3,500
et 2AETAIE2E MR EANE 2ES 92,700 95,800 23,100
201 et 92,700 95,800 A 3,100
02 23=24gl 92,700 95,800 A 3,100
OUstU=AEXAIE e ZHEAY 283 92,700
ofel WRIGNMS 5WI A 88,000 60,000 28,000
201 £B-2d| 18,000 20,000 A 2,000
03 AH2 S HI 18,000 20,000 A 2,000
Ol WRAAW WFHA 18,000
308 XXM SO0l A 70,000 40,000 30,000
10 S22SB4 AE A 70,000 40,000 30,000
O8= uxNY zM=HFs S ot 40,000
O==-324 NH2A 54 I8 ALY 30,000
MY =228 HE2UA 25 6,799,991 6,188,793 611,198
s 2,770,000
< 4,029,991
NEaed sHA0tAHE XI& 5,540,000 5,000,000 540,000
s 2,770,000
< 2,770,000
FASSAMY 5,540,000 5,000,000 540,000
s 2,770,000
< 2,770,000
308 MtXIEHMSOIH 5,540,000 5,000,000 540,000
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